D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH A REMAINDER Name:
Time: Score: y—

31 4207 + 1 = 316) 6748 + 2 =
332) 9386 + 2 = 37 74671 -8 =
333 39105 = 6 = 318) 13601 — 7 =
331 59460 = 6 = 319) 24885 + 7 =
335) 28223 +3 = 3500 98720 + 10 =
336) 16050 + 8 = 1) 23587 + 3 =
37194015 =+ 10 = 352) 59894 + 9 =
338 80408 + 9 = 353) 24443 +4 =
339 3316 +4 = 354 16683 + 6 =
30) 483 + 1 = 355 H8348 = 8 =
1) 27625 =+ 10 = 356) 19735 +5 =
312) 6503 + 1 = 57 78318 + 10 =
313 99277 =+ 10 = 358 5808 + 7 =
319 18042 + 9 = 359 17087 + 10 =
315 27063 + 4 = 360) 29635 + 4 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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